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Word

countl = countl + 1

count2 = count2 + 1

1) + countl - count2

2
Microsoft Visual Basic.NET
Excel
Basic VBA
1. Dim nokoril(90), nokori2(90) As Integer
2. nokoril(0) = 100000
3. nokori2(0) = 0
4. For i =1 To 90
5. countl = 0
6. For j = 1 To nokoril(i - 1)
7. If Int(Rnd() * 25) + 1 = 1 Then
8. Next
9. count2 = 0
10. For j = 1 To nokori2(i - 1)
11. If Int(Rnd() * 50) + 1 = 1 Then
12. Next
13. nokoril(i) = nokoril(i - 1) - countl + count2
14. nokori2(i) = nokori2(i -
15. Next
16. x =0
17. For i = 0 To 90
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18. y1 = nokoril(i) /7 200

19. y2 = nokori2(i) / 200
20. grph.DrawEllipse(drawpen, 297 + x, 597 - y1, 7, 7)
21. grph.FillEllipse(fillbrush, 297 + x, 597 - y2, 7, 7)
22. X =x + 10
23. Next

1. nokoril(90) nokori2(90)
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